

## SOME IDENTITIES ON THE FULLY DEGENERATE BELL POLYNOMIALS OF THE SECOND KIND

MINYOUNG MA AND DONGKYU LIM\*

**ABSTRACT.** Recently many interesting works are done on the degenerate Bell polynomials, which are initiated by T. Kim and D. S. Kim. And later T. Kim et al. studied on the partially degenerate Bell polynomials. Also D. V. Dolgy et al. defined and studied fully degenerate Bell polynomials. Recently, S. Pyo and T. Kim studied some identities on the fully degenerate Bell polynomials by using differential equations.

In the paper, we consider new denenerating approach to the Bell polynomials which is called fully degenerate Bell polynomials of the second kind. We study some identities from the generating function and specially by using the differential equations on those polynomials. We derive some identities of our fully degenerate Bell polynomials of the second kind, which related with higher order Daehee polynomials and higher order Bernoulli numbers.

### 1. INTRODUCTION

In combinatorial mathematics, the Bell polynomials denoted by  $B_n(x)$ , are used in the study of partitions (see [1, 2, 4, 5, 8]). The Bell polynomials are defined by the generating function to be [7, 8, 11, 14]

$$e^{x(e^t-1)} = \sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!}.$$

When  $x = 1$ ,  $B_n = B_n(1)$  are called the  $n$ -th Bell numbers.

As is well known, the Bell numbers are equal to the number of partitions of  $n$ -set. For  $n \geq 0$ , the Stirling numbers of the second kind  $S_2(n, k)$  are defined as

$$x^n = \sum_{k=0}^n S_2(n, k)(x)_k, \quad (1)$$

where  $(x)_0 = 1$ ,  $(x)_n = x(x-1)\cdots(x-n+1)$ , ( $n \geq 1$ ).

From (1), we note that the generating function for  $S_2(n, k)$  is given by

$$\frac{1}{k!}(e^t - 1)^k = \sum_{n=k}^{\infty} S_2(n, k) \frac{t^n}{n!}, \quad (k \geq 0).$$

For  $\lambda \in \mathbb{R}$ , the degenerate exponential function is defined by (see [3, 6, 9, 10])

$$e_{\lambda}^x(t) = (1 + \lambda t)^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} (x)_{n, \lambda} \frac{t^n}{n!},$$

---

1991 *Mathematics Subject Classification.* Primary 05A19, 11B83, 34A34 .

*Key words and phrases.* degenerate Bell number, degenerate Bell number of the second kind, differential equation.

\*Corresponding author.

where  $(x)_{0,\lambda} = 1$ ,  $(x)_{n,\lambda} = x(x - \lambda) \cdots (x - (n - 1)\lambda)$ , for  $(n \geq 1)$ . In view of (1), T. Kim et al. defined the degenerate  $\lambda$ -Stirling numbers of the second kind by the generating function, for  $k \geq 0$

$$\frac{1}{k!} (e_\lambda(t) - 1)^k = \sum_{n=k}^{\infty} S_{2,\lambda}(n, k) \frac{t^n}{n!}, \quad (\text{see [1, 12, 13]}).$$

Also the following relation is known in [6]

$$\begin{aligned} (x)_{n,\lambda} &= \sum_{k=0}^n S_{2,\lambda}(n, k)(x)_k, \quad (n \geq 0) \\ &= \sum_{k=0}^n \sum_{m=0}^k S_{2,\lambda}(n, k) S_1(k, m) x^m. \end{aligned} \tag{2}$$

We note that  $S_{2,\lambda}(n, k)$  converges to  $S_2(n, k)$  and  $e_\lambda^x(t)$  converges to  $e^x$  if  $\lambda$  tends to 0. There has been various trials for the study degenerate Bell polynomials and numbers. In [9], the first works on the degenerate Bell numbers and polynomials are done by Kims,

$$(1 + \lambda)^{\frac{x}{\lambda} (e_\lambda(t) - 1)} = \sum_{n=0}^{\infty} \text{Bel}_{n,\lambda}(x) \frac{t^n}{n!}.$$

Later in [11], T.Kim, D. Kim and D. V. Dolgy studied the partially degenerate Bell polynomials

$$e^{x(e_\lambda(t) - 1)} = e^{x((1 + \lambda t)^{1/\lambda} - 1)} = \sum_{n=0}^{\infty} \text{bel}_{n,\lambda}(x) \frac{t^n}{n!}.$$

In [6], D. V. Dolgy et al. defined and studied the fully degenerate Bell polynomials by the generating function

$$e_\lambda(x(e_\lambda(t) - 1)) = (1 + \lambda x((1 + \lambda t)^{1/\lambda} - 1))^{\frac{1}{\lambda}} = \sum_{n=0}^{\infty} B_{n,\lambda}(x) \frac{t^n}{n!}.$$

From the definition of fully degenerate Bell polynomials and numbers, they gave some interesting identities related with special numbers and polynomials. And recently in [15], S. Pyo and T. Kim studied some identities on the fully degenerate Bell polynomials by using differential equations.

In this paper, we consider new denenerating approach to the Bell polynomials which is called fully degenerate Bell polynomials of the second kind. We study some identities from the generating function and specially by using the differential equations on those polynomials. We derive some identities of our fully degenerate Bell polynomials of the second kind, which related with higher order Daehee polynomials and higher order Bernoulli numbers.

## 2. IDENTITIES FOR THE DEGENERATE BELL POLYNOMIALS

We define fully degenerate Bell polynomials of the second kind, denoted by  $B_{n,\lambda}^*(x)$  by the generating function

$$(1 + \lambda(e_\lambda(t) - 1))^{\frac{x}{\lambda}} = (1 + \lambda((1 + \lambda t)^{1/\lambda} - 1))^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} B_{n,\lambda}^*(x) \frac{t^n}{n!}. \tag{3}$$

The generating function of fully degenerate Bell polynomials of the second kind in (3) shows that

$$\begin{aligned} \sum_{n=0}^{\infty} \lim_{\lambda \rightarrow 0} B_{n,\lambda}^*(x) \frac{t^n}{n!} &= \lim_{\lambda \rightarrow 0} (1 + \lambda(e_\lambda(t) - 1))^{\frac{x}{\lambda}} \\ &= \lim_{\lambda \rightarrow 0} (1 + \lambda((1 + \lambda t)^{1/\lambda} - 1))^{\frac{x}{\lambda}} \\ &= \sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!}. \end{aligned}$$

By comparing the coefficients of both sides, we get

$$\lim_{\lambda \rightarrow 0} B_{n,\lambda}^*(x) = B_n(x)$$

and when  $x = 1$ ,  $B_{n,\lambda}^* = B_{n,\lambda}^*(1)$  are called the fully degenerate Bell numbers of the second kind. We can see that our degenerate Bell numbers are same that of fully degenerate Bell numbers, which are defined in [6].

From the generating function of the fully degenerate Bell polynomials of the second kind in (3),

$$\begin{aligned} \sum_{n=0}^{\infty} B_{n,\lambda}^*(x) \frac{t^n}{n!} &= \sum_{l=0}^{\infty} \left(\frac{x}{\lambda}\right)_l \frac{\lambda^l [(1 + \lambda t)^{1/\lambda} - 1]^l}{l!} \\ &= \sum_{l=0}^{\infty} (x)_{l,\lambda} \sum_{l=0}^n S_{2,\lambda}(n, l) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left[ \sum_{l=0}^n (x)_{l,\lambda} S_{2,\lambda}(n, l) \right] \frac{t^n}{n!}. \end{aligned} \tag{4}$$

By (2) and (4), we have the following theorem.

**Theorem 2.1.** For  $n \geq 0$ , we have

$$\begin{aligned} (1) \quad B_{n,\lambda}^*(x) &= \sum_{l=0}^n (x)_{l,\lambda} S_{2,\lambda}(n, l) \\ (2) \quad B_{n,\lambda}^*(x) &= \sum_{l=0}^n \sum_{k=0}^l \sum_{m=0}^k S_{2,\lambda}(n, l) S_{2,\lambda}(l, k) S_1(k, m) x^m. \end{aligned}$$

We note that

$$\frac{1}{l!} [(1 + \lambda t)^{1/\lambda} - 1]^l = \frac{1}{l!} \sum_{m=0}^l \binom{l}{m} (-1)^{l-m} (1 + \lambda t)^{\frac{m}{\lambda}}.$$

Thus the right hand side of (4), we have

$$\begin{aligned} \sum_{l=0}^{\infty} (x)_{l,\lambda} \frac{1}{l!} \sum_{m=0}^l \binom{l}{m} (-1)^{l-m} \left( \sum_{n=0}^{\infty} \left(\frac{m}{\lambda}\right)_n \frac{t^n}{n!} \right) \\ = \sum_{n=0}^{\infty} \sum_{l=0}^{\infty} \sum_{m=0}^l \binom{l}{m} (x)_{l,\lambda} (-1)^{l-m} \frac{1}{l!} (m)_{n,\lambda}. \end{aligned}$$

Thus we have the following

**Corollary 2.2.** For  $n \geq 0$ , we have

$$(1) \quad B_{n,\lambda}^*(x) = \sum_{l=0}^{\infty} \sum_{m=0}^l (x)_{l,\lambda} \binom{l}{m} (-1)^{l-m} \frac{1}{l!} (m)_{n,\lambda}$$

$$(2) \quad B_{n,\lambda}^* = \sum_{l=0}^{\infty} \sum_{m=0}^l (1)_{l,\lambda} \binom{l}{m} (-1)^{l-m} \frac{1}{l!} (m)_{n,\lambda}.$$

For the convenience we denote the generating function for fully degenerate Bell polynomials of the second kind in (4) as follows

$$F(t, x) = \sum_{n=0}^{\infty} B_{n,\lambda}^*(x) \frac{t^n}{n!}. \quad (5)$$

Then the  $N$ -th differentiation of the equation (5), we have the following

$$\begin{aligned} \frac{\partial^N}{\partial t^N} F(t, x) &= \frac{\partial^N}{\partial t^N} \left( \sum_{n=0}^{\infty} B_{n,\lambda}^*(x) \frac{t^n}{n!} \right) \\ &= \sum_{n=N}^{\infty} B_{n,\lambda}^*(x) \frac{t^{n-N}}{(n-N)!} \\ &= \sum_{n=0}^{\infty} B_{n+N,\lambda}^*(x) \frac{t^n}{n!}. \end{aligned} \quad (6)$$

The following (7) and (8) are adopted from [15]

$$\begin{aligned} \frac{1}{1 + \lambda(e_\lambda(t) - 1)} &= \sum_{j=0}^{\infty} (-1)^j \lambda^j j! \frac{(e_\lambda(t) - 1)^j}{j!} \\ &= \sum_{j=0}^{\infty} (-1)^j \lambda^j j! \sum_{m=j}^{\infty} S_{2,\lambda}(m, j) \frac{t^m}{m!} \\ &= \sum_{m=0}^{\infty} \sum_{j=0}^m (-1)^j \lambda^j j! S_{2,\lambda}(m, j) \frac{t^m}{m!}. \end{aligned} \quad (7)$$

And

$$(1 + \lambda t)^{\frac{1}{\lambda} - 1} = \sum_{k=0}^{\infty} (1)_{k+1,\lambda} \frac{t^k}{k!}. \quad (8)$$

By using (7) and (8), we have

$$\begin{aligned} \frac{\partial F}{\partial t} &= \left( x \sum_{l=0}^{\infty} B_{l,\lambda}^*(x) \frac{t^l}{l!} \right) \left( \sum_{m=0}^{\infty} \sum_{j=0}^m (-1)^j \lambda^j j! S_{2,\lambda}(m, j) \frac{t^m}{m!} \right) \left( \sum_{k=0}^{\infty} (1)_{k+1,\lambda} \frac{t^k}{k!} \right) \\ &= \left( x \sum_{l=0}^{\infty} B_{l,\lambda}^*(x) \frac{t^l}{l!} \right) \left( \sum_{m=0}^{\infty} \sum_{k=0}^m \sum_{j=0}^m \binom{m}{k} (-1)^j \lambda^j j! S_{2,\lambda}(k, j) (1)_{m-k-1,\lambda} \frac{t^m}{m!} \right) \\ &= \sum_{n=0}^{\infty} \left[ \sum_{m=0}^n \sum_{k=0}^m \sum_{j=0}^m \binom{n}{m} \binom{m}{k} x B_{n-m,\lambda}^*(x) (-1)^j \lambda^j j! (1)_{m-k-1,\lambda} S_{2,\lambda}(k, j) \right] \frac{t^n}{n!}. \end{aligned} \quad (9)$$

From the equations (6) and (9), we have the following theorem.

**Theorem 2.3.** *For any  $\lambda \in \mathbb{R}$  and non-negative integer  $n$ , we have*

$$B_{n+1,\lambda}^*(x) = \sum_{m=0}^n \sum_{k=0}^m \sum_{j=0}^m \binom{n}{m} \binom{m}{k} B_{n-m,\lambda}^*(x) (-1)^j \lambda^j j! x (1)_{m-k-1,\lambda} S_{2,\lambda}(k, j).$$

Let  $\lambda$  approaches to zero in the Theorem 2.3, then only  $j = 0$  is possible from  $\lambda^j = 0$  and we get  $k = 0$ , from  $S_{2,\lambda}(k, j) = S_{2,\lambda}(k, 0) = 1$ . Otherwise  $S_{2,\lambda}(k, 0) = 0$  if  $k > 1$ . Thus we get the following well-known identity in [6, 15]

**Corollary 2.4.** *For any  $\lambda \in \mathbb{R}$  and non-negative integer  $n$ , we have*

$$B_{n+1}(x) = x \sum_{m=0}^n \binom{n}{m} B_m(x).$$

Furthermore, let replace  $t$  by  $\log_\lambda(1+t) = \frac{(1+t)^\lambda - 1}{\lambda}$  in (3), we have

$$\sum_{m=0}^{\infty} B_{m,\lambda}^*(x) \frac{(\log_\lambda(1+t))^m}{m!} = (1+\lambda t)^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} (x)_{n,\lambda} \frac{t^n}{n!}. \tag{10}$$

The left hand side of (10),

$$\sum_{m=0}^{\infty} B_{m,\lambda}^*(x) S_{1,\lambda}(n, m) \frac{t^m}{m!} = \sum_{n=0}^{\infty} (x)_{n,\lambda} \frac{t^n}{n!}.$$

**Theorem 2.5.** *For any  $\lambda \in \mathbb{R}$  and non-negative integer  $n$ , we have*

$$(x)_{n,\lambda} = S_{1,\lambda}(n, m) B_{m,\lambda}^*(x).$$

When  $\lambda \rightarrow 0$  in the above Theorem 2.5, we have the well known identity in [6, 15]

$$x^n = S_1(n, m) B_m(x).$$

For the inversion formula of (10), from the identity,

$$\sum_{n=0}^{\infty} (x)_{n,\lambda} \frac{t^n}{n!} = (1+\lambda t)^{\frac{x}{\lambda}}.$$

Let  $t$  be replaced by  $(1+\lambda t)^{\frac{x}{\lambda}} - 1$ , then

$$\begin{aligned} \sum_{m=0}^{\infty} (x)_{m,\lambda} \frac{((1+\lambda t)^{\frac{x}{\lambda}} - 1)^m}{m!} &= \sum_{n=0}^{\infty} \sum_{m=0}^n S_{1,\lambda}(n, m) (x)_{m,\lambda} \frac{t^n}{n!} \\ &= \left(1 + \lambda((1+\lambda t)^{\frac{x}{\lambda}} - 1)\right)^{\frac{x}{\lambda}} \\ &= \sum_{n=0}^{\infty} B_{n,\lambda}^*(x) \frac{t^n}{n!}. \end{aligned}$$

Thus we have the inversion formula for the Theorem 2.5

**Theorem 2.6.** *For any  $\lambda \in \mathbb{R}$  and non-negative integer  $n$ , we have*

$$B_{n,\lambda}^*(x) = \sum_{m=0}^n S_{2,\lambda}(n, m) (x)_{m,\lambda}.$$

When  $\lambda \rightarrow 0$  in the above Theorem 2.6, we have the well known identity

$$B_n(x) = \sum_{m=0}^n S_2(n, m)(x)_m.$$

### 3. DIFFERENTIAL EQUATIONS USING THE FULLY DEGENERATE BELL POLYNOMIALS OF THE SECOND KIND

For the convenience of this paper, we denote

$$T = (1 + \lambda t)^{1/\lambda} - 1 = e_\lambda(t) - 1$$

and  $F = F(t, x) = (1 + \lambda T)^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} B_{n,\lambda}^*(x) \frac{t^n}{n!}.$  (11)

From (2) and (11), we see the  $N$ -th differentiation of the  $F$  with respect to  $x$

$$\begin{aligned} \frac{\partial^N F}{\partial x^N} &= \frac{\partial^N}{\partial x^N} \sum_{n=0}^{\infty} B_{n,\lambda}^*(x) \frac{t^n}{n!} \\ &= \sum_{n=N}^{\infty} \left( \frac{\partial^N}{\partial x^N} B_{n,\lambda}^*(x) \right) \frac{t^n}{n!}. \end{aligned}$$
 (12)

We observe that

$$\frac{\partial F}{\partial x} = (1 + \lambda T)^{\frac{x}{\lambda}} \frac{\log(1 + \lambda T)}{\lambda} = F \frac{\log(1 + \lambda T)}{\lambda}.$$

Inductively, we get for  $N \geq 1$ ,

$$\frac{\partial^N F}{\partial x^N} = F^{(N)} = F \left( \frac{\log(1 + \lambda T)}{\lambda} \right)^N.$$
 (13)

The Daehee polynomials are defined by the generating function

$$\frac{\log(1 + t)}{t} (1 + t)^x = \sum_{n=0}^{\infty} D_n(x) \frac{t^n}{n!}.$$

And the Daehee polynomials of order  $r$  are defined by the generating function in [16, 17],

$$\left( \frac{\log(1 + t)}{t} \right)^r (1 + t)^x = \sum_{n=0}^{\infty} D_n^{(r)}(x) \frac{t^n}{n!}.$$

We express  $F^{(N)}$  via Daehee polynomials of order  $N$ , let's consider the following

$$\begin{aligned}
 F^{(N)} &= F\left(\frac{\log(1+\lambda T)}{\lambda}\right)^N \\
 &= \left(\frac{\log(1+\lambda T)}{\lambda T}\right)^N (1+\lambda T)^{\frac{x}{\lambda}} T^N \\
 &= \left[\sum_{m=0}^{\infty} D_m^{(N)}\left(\frac{x}{\lambda}\right) \frac{\lambda^m T^m}{m!}\right] T^N \\
 &= \sum_{m=0}^{\infty} D_m^{(N)}\left(\frac{x}{\lambda}\right) \frac{\lambda^m}{m!} T^{m+N} \\
 &= \sum_{m=0}^{\infty} D_m^{(N)}\left(\frac{x}{\lambda}\right) \lambda^m (m+N)_N \sum_{n=m+N}^{\infty} S_{2,\lambda}(n, m+N) \frac{t^n}{n!} \\
 &= \sum_{n=N}^{\infty} \left[\sum_{m=0}^{l-N} D_m^{(N)}\left(\frac{x}{\lambda}\right) \lambda^m (m+N)_N S_{2,\lambda}(n, m+N)\right] \frac{t^n}{n!}.
 \end{aligned} \tag{14}$$

Thus by (12) and (14), we have

**Theorem 3.1.** For any  $\lambda \in \mathbb{R}$  and non-negative integers  $n, N$  with  $n \geq N$ , we have

$$\frac{\partial^N}{\partial x^N} B_{n,\lambda}^*(x) = \sum_{m=0}^{l-N} D_m^{(N)}\left(\frac{x}{\lambda}\right) \lambda^m (m+N)_N S_{2,\lambda}(n, m+N).$$

The following degenerate Bernoulli numbers of order  $r$ ,  $\beta_{n,\lambda}^{(r)}$  are very well known in [3, 12]

$$\left(\frac{t}{e_{\lambda}(t)-1}\right)^r = \sum_{n=0}^{\infty} \beta_{n,\lambda}^{(r)} \frac{t^n}{n!}. \tag{15}$$

Now we relate  $\frac{\partial^N}{\partial x^N} B_{n,\lambda}^*(x)$  with higher order degenerate Bernoulli numbers and higher order Daehee polynomials. We consider  $F^{(N)}$  in (13) as follows

$$\begin{aligned}
 F^{(N)} &= F\left(\frac{\log(1+\lambda T)}{\lambda}\right)^N \\
 &= \left(\frac{\log(1+\lambda T)}{\lambda T}\right)^N (1+\lambda T)^{\frac{x}{\lambda}} T^N.
 \end{aligned}$$

Then we can rewrite

$$F^{(N)} t^N T^{-N} = \left(\frac{\log(1+\lambda T)}{\lambda T}\right)^N (1+\lambda T)^{\frac{x}{\lambda}} t^N. \tag{16}$$

Thus we have

$$\begin{aligned}
F^{(N)}t^N T^{-N} &= t^N \sum_{m=0}^{\infty} D_{m,\lambda}^{(N)} \left(\frac{x}{\lambda}\right) \frac{\lambda^m T^m}{m!} \\
&= \sum_{m=0}^{\infty} D_{m,\lambda}^{(N)} \left(\frac{x}{\lambda}\right) \lambda^m \sum_{n=m}^{\infty} S_{2,\lambda}(n, m) \frac{t^n}{n!} \\
&= \sum_{n=0}^{\infty} \sum_{m=0}^n D_{m,\lambda}^{(N)} \left(\frac{x}{\lambda}\right) \lambda^m S_{2,\lambda}(n, m) \frac{t^{n+N}}{n!} \\
&= \sum_{n=N}^{\infty} \sum_{m=0}^{n-N} D_{m,\lambda}^{(N)} \left(\frac{x}{\lambda}\right) \lambda^m S_{2,\lambda}(n-N, m) (n+N)_N \frac{t^n}{n!}.
\end{aligned} \tag{17}$$

On the other hand, by (15), we have

$$t^N T^{-N} = \left(\frac{t}{e_{\lambda}(t) - 1}\right)^N = \sum_{m=0}^{\infty} \beta_{m,\lambda}^{(N)} \frac{t^m}{m!}$$

and the left hand side of (16)

$$\begin{aligned}
F^{(N)}t^N T^{-N} &= \sum_{n=N}^{\infty} \left(\frac{\partial^N}{\partial x^N} B_{n,\lambda}^*(x)\right) \frac{t^n}{n!} \sum_{m=0}^{\infty} \beta_{m,\lambda}^{(N)} \frac{t^m}{m!} \\
&= \sum_{n=N}^{\infty} \sum_{m=0}^{n-N} \binom{n}{m} \frac{\partial^N}{\partial x^N} B_{n,\lambda}^*(x) \beta_{n-m,\lambda}^{(N)} \frac{t^n}{n!}.
\end{aligned} \tag{18}$$

By (17) and (18), we have the following identity.

$$\sum_{m=0}^{n-N} \binom{n}{m} \frac{\partial^N}{\partial x^N} B_{n,\lambda}^*(x) \beta_{n-m,\lambda}^{(N)} = \sum_{m=0}^{n-N} D_{m,\lambda}^{(N)} \left(\frac{x}{\lambda}\right) \lambda^m S_{2,\lambda}(n-N, m) (n+N)_N.$$

**Theorem 3.2.** For any  $\lambda \in \mathbb{R}$  and non-negative integers  $n, N$  with  $n \geq N$ , we have

$$\sum_{m=0}^{n-N} \binom{n}{m} \frac{\partial^N}{\partial x^N} B_{n,\lambda}^*(x) \beta_{n-m,\lambda}^{(N)} = \sum_{m=0}^{n-N} D_{m,\lambda}^{(N)} \left(\frac{x}{\lambda}\right) \lambda^m S_{2,\lambda}(n-N, m) (n+N)_N.$$

On the other hand,

$$\begin{aligned}
F^{(N)} &= F \left(\frac{\log(1 + \lambda T)}{\lambda}\right)^N \\
&= F \frac{N! (\log(1 + \lambda T))^N}{\lambda^N N!}.
\end{aligned}$$



$$\begin{aligned}
\sum_{n=N}^{\infty} \frac{\partial^N B_{n,\lambda}^*(x) t^n}{\partial x^N n!} &= F \frac{N!}{\lambda^N} \sum_{l=N}^{\infty} S_1(l, N) \frac{\lambda^l T^l}{l!} \\
&= (1 + \lambda T)^{\frac{x}{\lambda}} \frac{N!}{\lambda^N} \sum_{l=N}^{\infty} S_1(l, N) \frac{\lambda^l T^l}{l!} \\
&= \sum_{m=0}^{\infty} (x)_{m,\lambda} \frac{T^m}{m!} \frac{N!}{\lambda^N} \sum_{l=N}^{\infty} S_1(l, N) \frac{\lambda^l T^l}{l!} \\
&= \sum_{k=N}^{\infty} \sum_{l=0}^{k-N} \binom{k}{l} (x)_{k-l,\lambda} \frac{\lambda^l N!}{\lambda^N} S_1(l, N) \frac{T^k}{k!} \\
&= \sum_{k=N}^{\infty} \sum_{l=0}^{k-N} \binom{k}{l} (x)_{k-l,\lambda} \frac{\lambda^n N!}{\lambda^N} S_1(l, N) \sum_{n=k}^{\infty} S_{2,\lambda}(n, k) \frac{t^n}{n!} \\
&= \sum_{n=N}^{\infty} \left[ \sum_{k=N}^n \sum_{l=0}^{k-N} \binom{k}{l} (x)_{k-l,\lambda} \frac{\lambda^n N!}{\lambda^N} S_1(n, m) S_{2,\lambda}(n, k) \right] \frac{t^n}{n!}.
\end{aligned} \tag{19}$$

Therefore by the comparing the coefficients of (19), we have the following identity.

**Theorem 3.3.** For any  $\lambda \in \mathbb{R}$  and non-negative integers  $n, N$  with  $n \geq N$ , we have

$$\frac{\partial^N}{\partial x^N} B_{n,\lambda}^*(x) = \sum_{k=N}^n \sum_{l=0}^{k-N} \binom{k}{l} (x)_{k-l,\lambda} \frac{\lambda^n N!}{\lambda^N} S_1(n, m) S_{2,\lambda}(n, k).$$

**Acknowledgements.** We would like to thank the referees for their comments and suggestions which improved the original manuscript in its present form. The second author was supported by the National Research Foundation of Korea (NRF) with Grant Number NRF-2018R1D1A1B07041846.

#### REFERENCES

- [1] E. T. Bell, *Exponential polynomials*, Ann. of Math. **35** (1934), no. 2, 285-277.
- [2] J. Brillhart, *Mathematical Notes: Note on the single variable Bell polynomials*, Amer. Math. Monthly **74** (1967), no. 6, 695-696.
- [3] L. Carlitz, *Degenerate Stirling, Bernoulli and Eulerian numbers*, Utilitas Math. **15** (1979), 51-88.
- [4] L. Carlitz, *Some arithmetic properties of the Bell polynomials*, Bull. Amer. Math. Soc. **71** (1965), 143-144.
- [5] L. Carlitz, *Arithmetic properties of the Bell polynomials*, J. Math. Anal. Appl. **15** (1966), 33-52.
- [6] D. V. Dolgy, D. S. Kim, T. Kim, J. Kown, *On fully degenerate Bell numbers and polynomials*, to appear in Filomat.
- [7] L.-C. Jang, T. Kim, *Some identities of Bell polynomials*, J. Comput. Anal. Appl. **20** (2016), no. 3, 584-589.
- [8] D. S. Kim, T. Kim, *Some identities of Bell polynomials*, Sci. China Math. **58** (2015), no. 10, 2095-2104.
- [9] D. S. Kim, T. Kim, *On degenerate Bell numbers and polynomials*, RACSAM Rev. R. Acad. A. **111** (2017), no. 2, 435-446.
- [10] T. Kim, D. S. Kim, *Degenerate Laplace transform and degenerate gamma function*, Russ. J. Math. Phys. **24** (2017), no. 2, 241-248.
- [11] T. Kim, D. S. Kim, D. V. Dolgy, *On partially degenerate Bell numbers and polynomials*, Proc. Jangjeon Math. Soc. **20** (2017), no. 3, 337-345.
- [12] T. Kim, D. S. Kim, L.-C. Jang, H.-I. Kwon *Extended degenerate Stirling numbers of the second kind and extended degenerate Bell polynomials*, Util. Math. **106** (2018), 11-21.
- [13] T. Kim, *A note on degenerate Stirling polynomials of the second kind*, Proc. Jangjeon Math. **20** (2017), no. 3, 319-331.
- [14] T. Kim, *Degenerate complete Bell polynomials and numbers*, Proc. Jangjeon Math. **20** (2017), no. 4, 533-543.

- [15] S.-S. Pyo, T. Kim, *Some identities of fully degenerate Bell polynomials arising from differential equations*, Proc. Jangjeon Math. Soc. **22** (2019), no. 2, 357-363.
- [16] G.-W. Jang, T. Kim, *Revisit of identities for Daehee numbers arising from nonlinear differential equations*, Proc. Jangjeon Math. Soc. **20** (2017), no. 2, 163-177.
- [17] Y. Simsek, *Identities on the Changhee numbers and Apostol-type Daehee polynomials*, Adv. Stud. Contemp. Math. (Kyungshang) **27** (2017), no. 2, 199-212.

(Ma) DEPARTMENT OF MATHEMATICS EDUCATION, ANDONG NATIONAL UNIVERSITY, ANDONG 36729, REPUBLIC OF KOREA  
*Email address:* [mmy@anu.ac.kr](mailto:mmy@anu.ac.kr)

(Lim) DEPARTMENT OF MATHEMATICS EDUCATION, ANDONG NATIONAL UNIVERSITY, ANDONG 36729, REPUBLIC OF KOREA  
*Email address, Corresponding author:* [dklim@anu.ac.kr](mailto:dklim@anu.ac.kr)  
*URL:* <http://orcid.org/0000-0002-0928-8480>